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QUESTION 1

Referring to the exhibit, what would cause the problem on VCP 0/50? 

A. The port is missing the interface hardware 

B. The remote side is not configured as a VCP 

C. The VCP has been disabled through configuration 

D. VCP 0/50 is configured as a network port. 

Correct Answer: B 

 

QUESTION 2

You are asked to configure VXLAN for you c data center using multicast to exchange VTEP information? 

In this scenario, which two configuration parameters must match on the VTEPs in the same VXLAN segment? (Choose
two.) 

A. VLAN ID 

B. Routing instance name 

C. Multicast group 

D. VNI 

Correct Answer: CD 
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QUESTION 3

Which event triggers the generation of a EVPN type-4 route? 

A. When unknown unicast traffic is received on an interface. 

B. When known unicast traffic is received on an interface. 

C. When a new VNI is configured. 

D. When a new ESI is configured. 

Correct Answer: D 

 

QUESTION 4

Referring to the exhibit, you have a data center with two PODs. Seamless EVPN-VXLAN stitching is used to facilitate
communication between the PODs. 

Which three statements are true in this scenario? (Choose three.) 

A. AVXLAN tunnel can form between L2 and S1. 
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B. A VXLAN tunnel can form between S1 and S2. 

C. AVXLAN tunnel can form between L1 and L2. 

D. AVXLAN tunnel can form between L2 and S3. 

E. AVXLAN tunnel can form between L1 and L4. 

Correct Answer: ABD 

 

QUESTION 5

You want to improve network convergence within a data center during link failures. In this scenario, which EVPN-
VXLAN feature will accomplish this task? 

A. storm control 

B. Ethernet segment auto discovery 

C. MAC filtering 

D. MAC mass withdrawal 

Correct Answer: D 
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